New Client New Order Revision of Order Add Change						Order Numbe	or 3469-0	06	Sheridan Media			Broadca			st O	rder	•
Customer Numb							Customer Agency	/	<u>-</u>								
Advertiser	PON	MITTEE "	TO E	LECT	TKE	N PENDERGA	CAFT	1	で KROE (1) [ı KZW	/Y (2)		KWY	Ö	(3)
		W. BURK					:_,	<i>'</i>	-	•	KLQ	Q (5)			□ OLDIES (6)		
City SHER					マッギ	21			□ EDGE (7) (SMA	NRT (8)		GEO	-DIGI	TAL
	_					07-763-09	<i>89</i> Fax		□ MAGIC (10)	INTE	RNE	Γ		NON	-BRO	ADCA
Local 7/ National Trade		7CA L Salesper	son			(pendy62a				Billing Typ □ Week		☐ Mont		Ģ	End-	of-Sch	nedue
☐ Other Co-op Billing?	<u></u>	Affidavit s	□ No	o If yes	s, co-op	description://u	YOMING HO	USE DISTRICT	- 29	Billing: [Notary: [⊒ Stano Ž Yes	dard Ba □ N	roadca: o	st (Cale	ndar M	fonth
BILL SPON SPOT		CART CART	TC PC PC	PRI	LEN LEN	START DATE START DATE START DATE	END DATE END DATE END DATE	PROGRAM # START TIME	POSITION # END TIME	RATE RATE RATE	М	т	w	Т	F	s	s
/	1	37/A	98	1	:60	6/10/22	6/20/22	06:00	10:00	14.00	1		1		1		
	2						6/17/22		13:00	14.00	1		1		ſ		
	3						6/20/22		16:00	14.00	1		1		/		
	4						6/17/22		19:00	14.00	1		1		/		
	5						6/22/22		19:00	11,50	1		1		/		
	6	371B	98	1	130	l *	6/29/22		10:00	12.00	1		1		1		
·	7					6/20/22	6/29/22	10:00	13:00	12.00	1		1		/		
	8					1 .	6/29/22		16:00	12.00	1		1		1		
	9					6/20/32	6/59/52	16:00	19:00	12.00	1		/		/	;	
	10																
										TOTALS		<u>.</u>	INITS		4	REVE	ENUE
BT= Billing T PC= Produc				scripti	on Lis	t		e.					186		₩.	252 69 216	2.00
PRI= Priority			•						;	Spots & Prog	ams		18		- *	216	s . 00

CANDIDATE ADVERTISEMENT AGREEMENT FORM

1/7/22 Date of Station Agreement to Sell Time: $6/7/22$	Date of Request to Purchase Ad Time: 6/
Name: (TIM SCHELLINGER	Name: KEN PENDERGRAFT
Signature: Jam Mchellagid	Signature
Station Representative	Candidate/Committee/Agency
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING.	THIS STATION DOES NOT DISCRIMINATIN THE PLACEMENT OF ADVERTISING.
(2) this station is authorized to announce the time as paid for by such person or entity; and(3) this station has disclosed its political advertising policies, including applicable classes and rates, discount, promotion and other sales practices.	(2) this station is authorized to announce t(3) this station has disclosed its political ad and other sales practices.
the candidate listed above who is a legally qualified candidate, or the authorized committee of the legally qualified candidate listed above;	the candidate listed above who is a legally qualified candidate, or the authorized committee of the legally qualified candidate listed
The undersigned represents that: (1) the payment for the broadcast time requested has been furnished by (check one box below):	The undersigned represents that: (1) the payment for the broadcast time rec
ttee:	Treasurer of candidate's authorized committee: SUSAN NELSON
2022 General Primary	Date of election: AUGUST 16, 2
REPRESENTATIVE, DISTRICT 29	Office sought (no acronyms or abbreviations): WYOMING HOUSE REPRESENTATIVE
	Candidate's political party: REPUBLICAN
mation):	Agency requesting time (and contact information): N/A
TO ELECT KEN PENDERGRAFT HOUSE DIST. 29	Authorized committee: CommITTEE To Ex
	Candidate name: KEN PENDERGRAFT
An one the man are and should should be a second to the second se	SIGNIV
FEDERAL CANDIDATE STATE OR LOCAL CANDIDATE	IDENTIFY CANDIDATE TYPE
See Order for proposed schedule and charges. See Invoice for actual schedule and charges. I, KEN PENDERGRAFT , hereby request station time as follows:	See Order for proposed schedule

ret received to determine sponsor ID)* y upload updated final form when complete. y upload updated final form when complete. On Call Letters: KROE - AM On Location: SHERIDAN WYOMING In Star on Location or other documents reflecting urchased, when spots actually aired, the rates of tupload the actual times spots aired until an impation immediately should be placed in the "To the complete."	Ad submitted to Station? Yes No Date ad received: $6/3/22$ Federal candidate certification signed (above): Yes No $\sqrt{N/A}$	Name: Date: 10 BE COMPLETED BY STATION ONLY	Candidate/Authorized Committee/Agency Signature:
--	---	---	--



Sheridan Media P.O. Box 5086 Sheridan, WY 82801 307-672-7421

COMMITTEE TO ELECT KEN 459 W. BURKITT ST. SHERIDAN, WY 82801

KROE-AM Order Confirmation

OrderID: 3469-006

Sponsor: Product:

Committee To Elect Ken Pendergraft Committee To Elect Ken Pendergraft

Estimate/PO:

AccountRep: BillingCycle:

House/political End-of-Schedule Times/Rates

InvoiceType: Run Dates:

6/10/2022 - 6/29/2022

Items Ordered: 42

Ordered Amount: \$537.00

Scheduled Station(s): KROE-AM
Wyoming House District 29

Printed 6/7/2022 3:36:57 PM

Page 1

	Run Dates	Run Weeks	Run Times	Mon	Tue	We	Thu	Fri	Sat 3	Sun Weel Tota	•	Descripti	Avail Type	Copy ID	Qty	Item Cost	Total Cost
)1	6/10/2022 - 6/20/2022	All Weeks	06:00 AM - 10:00 AM	1		1		1		3	:60	Spot		371A	5	14.00	70.00
02	6/10/2022 - 6/17/2022	All Weeks	10:00 AM - 01:00 PM	1		1		1		3	:60	Spot		371A	4	14.00	56.00
03	6/10/2022 - 6/20/2022	All Weeks	01:00 PM - 04:00 PM	1		1		1		3	:60	Spot		371A	5	14.00	70.00
04	6/10/2022 - 6/17/2022	All Weeks	04:00 PM - 07:00 PM	1		1		1		3	:60	Spot		371A	4	14.00	56.00
)5	6/10/2022 - 6/22/2022	All Weeks	06:00 AM - 07:00 PM	1		1		1		3	:60	Spot		371A	6	11.50	69.00
)6	6/22/2022 - 6/29/2022	All Weeks	06:00 AM - 10:00 AM	1		1		1		3	:30	Spot		371B	4	12.00	48,00
)7	6/20/2022 - 6/29/2022	All Weeks	10:00 AM - 01:00 PM	1		1		1		3	:30	Spot		371B	5	12.00	60.00
80	6/22/2022 - 6/29/2022	All Weeks	01:00 PM - 04:00 PM	1		1		1		3	:30	Spot		371B	4	12.00	48.00
9	6/20/2022 - 6/29/2022	All Weeks	04:00 PM - 07:00 PM	1		1		1		3	:30	Spot		371B	5	12.00	60.00

Apr-22

0.00

May-22

0.00

Jun-22

537.00

Q2-2022

537.00

__Confirmed Correct; Payment

Guaranteed

Accepted for KROE-AM